42014 % ;
(). ik, WM 'mumt 1. ission Indradhanush’; launched in the vear
%ﬁmﬂmmwmm 201418 |
W T | i Tnalpl:ovidi alLforr!abilc an;:t_qunln_v
2) =fan . healtheare to the rural population.
(3) w‘::f ﬁ_mmm i {2} To provide education te the deprived
fafv= v ad STEvasmat ¥ yfi children.
%@ S, a3 A et W wen 3) Te provide information, commodities
1 8 Tt S $ A and service to meet the diverse need of
G et i b adolescents.
{s) o e v s ) wiewfem wen) {4 To cover children who have been
I T ﬂn.a: 1 partinlly or not vaccinated during
routine itnmunisation rounds.
» - » T T Sieww - v w5 wey yrE (5) Mot Attempted
TEMRE?
(1) sifem 2.  Appam, Puttu and Idiyappam - food items,
\B./ o belong to which State of India ?
i (1) Orissa
“ - B (2) Kerala
I (3) Punjab
{5) v W g owmdy (4)  Gujarat
3 CE’ o e {5)  Not Attempted
\ul/ LoLER 3 8. ‘CE refers to:
(2) wEpEEw sy {1} Common Era
(3)° Fr= sfwfre PM (2] CasualEra
(4 whEfeiz (31 Coastof Egpt
(4) Common Estimate
Eiaid HTER
¢ » ‘e:“ : {5)  Not Attempted
4 L) ﬁ,n ﬁ E 3 f
* k2o s xQ el |l 4.  “Lugda’'is a kind of which one of the following
Huen i that is worn in Chhattisgarh ?
u].)/all 9 {1} Ornament
(2 T n {2} Footwear
(3 urE g ﬂ (33 Saree
@ T 51l e
(S5) WMot Attempted
(5) o= e & WwA
5 *ﬁaf qﬂ ane %fa;q wa ﬁ T mt? 5. 'SB‘E-‘I:’?&SIWM is celebrated in which Indian
() IR (1] Uttar Pradesh
o sEH M : B (2) Assam
(3 wAtew (3) Karnataka
i 4)  Punjab
{4 e (
(5) we A e (5) Not Attempted
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@
@ i P, P

5) wE TR

8.
8. e wGemEnd?

(1) * 0371 g,
20 2371 fEad
\ar” sa71 e
(4} 8371 fEd
5 T Emawy

Prma.C

9.

9. R 2011 F FEER, W W aemw
(1) 880
@) 830
3. 730
4) 780

(5) TR AE T AEA

10. ‘firfe s o sftverm’ e % S A ¥ 10.

What is the full form of ‘MAA’ programme 3
{l}  Mother And Adolescent

(2)  Menstrual hygiens Among Adolescent
girls

13)  Mother's Absolute Affection

14)  Mother's Absolute Attention

(5]  Not Attempted

Where in Jamia Islamia University situaied ?
(11 Delhi

12) Lucknow
{3) Aligarh
{4} Bhopal

(9} NotAttempted

What is the radius of the earth ?
(1) 9371 km
12} 2371 ke
{31 6371 km

4] B371km

[5)  Not Attempted

As per Census 2011, the literacy rate in India
is:

{1} 880
2y §3.0
3y 7o
{4 780

5] Not Attempred

Who is the author of the book - ‘A History of

o British India’ ?
ly {11 Lord Mountbatten
mJ e w {2) Lord Curzon
opr Fmim A ¢ (3] James Mill
(@ AmEEs {4 Warren Hastings
{5) A AT | {5) Not Attempted
VNATH/F1 T 714 36 feie e | SPACE FOR ROUGH WORK




11. favs waiem faw s o € 11, World Enwi : R .
¢ ‘ orid Bavironment Day is celebrated on : 16, Frefafas & 3 #l5-m wieli gl @ 82 | 16, Which of the following is mot a terrestrial
(1) 5 gem 1) 5™ July 1 A habitat 7
2 7o @ 7 day : @ {1}  Rainforest
W 5¥1 M. (o Ei: ::‘ June Gy T c {21 Orassland
W 7 T June M- (3)  Pond
(5 T & s (5) NotAttempted | ) : 4) Desert
(5 I A wed |
" : {5) Mot Attempted
12. ¥dER RO ¥ wOR TeR-wRe & w9 fefii wa | 120 Who served as free India’s first Governor- i
e General ? 17. o fiedt safer g e A SRR, Ik |, person’s kidney sto ing. T
. n ney stops working.
i e ST {1} Maulana Azad T 1 Fm g g e T €, s ag cannot survivé tiniesé their blood s‘E fitered
@ W e e 2}  Jawahar Lal Nehru | Fifaa 1 ¢ w1 9% wiEw weand ® by artificial kidney. This process is called -
M‘ . (3} C. Rajagopalachari : (I W {1}  Transpiration
e e Pre. C [4)  Sardar Vallabhbhai Patel @) Fem (2} Elimination
5 ¥ ¥ ‘a'r:'.ﬁ [ W, Bikiawees (3) A s D {3]  Excretion
i zrferam f4) Dialysis
! 13. The earth i nded la f
ST e——— c&uc:a: is surrow by a layer of gases 5)  Fwd T (5] Not Attempted
W 1) Atmosphere .
U;’ eTag [2) Climate 1% mﬂﬁ#tﬁm*mﬁ%? = :?E::: g[!he G
i i s . A 3  Omone { \pp e g i wft o S {1)  Long backbone with cylindrical body
@) 1. Birvares b it ), YUK R w0 g & ool e (2) Head and tail smaller than the mi
8 s (5) Not Attempted o 0 M mam £ E SRR portion of the body. 54 o
| (3w (fea) w auteef {3] Presence of fins
14, WRA W fow oy w ww g 14, Which year did India attain freedom ? i () e 2 sefefs . n {47 Presence of gills
T = | e
@ 1930 . A 3} 1930 19 iz
(4 1950 @ 1950 | 5" "-fﬂfé'ﬂ'a'dm i wifed = : = . MaLcthhc following : »
5) 3 T & e 5 -
5) (5} Not Attempted (A) TIEH ) FERE {A}] Lamina I} Weak stem
18 3 AR d-w H}ﬁ 15. Which one of the following refers to the " thg? an o g Iatl -
fogenerdl i T T Fornd siodda W=l B U programme introduced in all government 0 wiEm = @ Phdl {) - Leaf
i sirsr way fam o €7 eimz:l;tfq ;c;mois to provide children with ) foerd wn W (D} Creeper IV} Flower
() w4 =, w2 s i . ‘
Iié e Ty wfira= (1}  Beti Bachao, Beti Padhao : (1) (A-OV), (B0, (C)-(N, D)1 (1) (AMIV), (B)-(in), (Cl-{H1), (D)-(1)
(2)  Sarv Shiksha Abhiyan @5 (A, -0, (C-1V), [D)-0) (2) (A, (B)-(1), (C}-AV), (D))
[3! wfeen THTET ﬁw 1) (3 Mahila Samakhya AT (A)- (U1, (BI-(V), (C)-11), (D)-1) (31 (AL, B)-IV), (C)-10), (D)-1)
g 4)  Mid-day meal @A), @-n, €)1, ©)-1V) @) (A-G), B, (C1-0), D)-1V)
(5) e A T (5)  Not Attempted () TR TR s C (5]  Not Attempted
Page 4 VNATH | F1 7% BT % R0 T4/ SPACE FOR ROUGH WORK Page 5
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20, Trofafes § 8 s 3ues 8 92 = m‘m 20. Yeast is used in the production of :
a7 (1) Alcohol 24. T TTEH ¥R g v #HAftor i gf mowm | 29, A boy is standing at a distance of 50 em from
@ e {2)  Hydrochloric Acid #i = ot efafan % s fesh =0 Af ) the plane mirror. What will be the distanice
[2F EgmIRE (3)  Sugar (1 50 & R S mour and We Shage 7
@3 (4 Oxygen @ 75 ¥ b,
1 = [2) 75e¢m
(4 Sifefre Aws. B {5} Not Attempted i moiﬂmﬂwF F Pl%'i) 3 100cm
6 TR v i o -
21. Defliciency of __ causes beri-beri ) ! (3)  Not Attempted
di :
21. #t ol & w0 -3 w2 [;:mi:mmmc 28, #2016 d A weER Y e faym 8. Inthe g
" . I Year 2016, the Government of India has
{1 fﬂaﬁﬁ C ) Vitamin D ey fo & forerds arerta few fe e Fraers mit_imud A mission called unger
& 2 {3) Vitamin A g* fem b1 which a proper Sewage disposal have been
13) TaEfEaA 4} Vitamin B 2 m::ﬂ 1} S;avar.hh Bharat
\g- frafme P O (5] Not Attempted :3: ECCR A ﬂ () Namami Gange
(5} TR Emuwn I % (3} Ujjwala
22. Match electrical component given in (5) I A T W 4]  Udaan
22. w- lﬁf&%'ﬁ&gu i i - 1 g Cnlnmn' ;1 ‘I with the symbol given in {S) Not Attempred
T WA R fem wfa - cmm”nm_l Gt c— U R LR B Sl o
o o ; e F ATETTET T8 Bl £ 26. No medium is required for transfer of heat by
(A}  Electric cell m —= () e the process of o
A TEas {t e W RIS (1} Convection
A D {B] Switch in 'ON’ (i @ i : (2) Transpiration
® ‘onfamifes. _@_ | :i: e Pre: B (3) Radiation
position ! 4}  Conducti
() foge e () (C) ElectricBulb () e (5) I9H T [5: N mmm
D] &= vy —f (D) Battery o —~ : i
" £ ar. am W@ B ¥F A el
wit faweg g Choose the correct option : { £ 27. and are water borne
(1) (AFEV), B0, (C)-(11), (D)) (1) (A)-(V), (B)-(D, (C}-1), (D)-(11T) - Gy AR SRR
@ ALV, B, (-1, (D) @ (A-V), (B-(, (©1(1, (D)) | 2) e ot fim e e
(3] (A0, (B)-1), (C)-(I1T), (D)-(V) @) (A0, (B, (-, (0)-GV) . o % 2) Polio and Rickets
(A)-(1T1}, (B)-~(1}, (C}-(11}, (D}-(IV) @) (A1), BI, (C-), D)-0V) TEHIEE SR A {3) Typhoid and Meningitis
SR 4. D {5} Not Att;mp‘lc\; : b sy M_D {41 Beri-Beri and Dysentery
) (5) I T e (5) NotAttempted
23, uenfem A' @ER wERWE :
23. Hepatitis *A” is caused by : 28 yFWsW___ dvmwE 28. Earthworms breathe through their __
o e (1) Fungi TEEE (1) Gills
(2) FEe (2} Protozoa 2) == M 2 ﬁ (2) Skin
(3 S ﬂm D (3) Bacteria @3) - _ (3) Lungs
U‘*i/ ferar {4) Virus (4) e {4) Tracheae
(5) TR & e | (5] Not Attempted (5) A & = (5)  Not Attempted
7w @1d % fee Fam= / SPACE FOR ROUGH WORK Page6  VYNATH/F1 % o7 & 70 2077 / SPACE FOR ROUGH WORK Page 7
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29, uwal w1 g e @ Feerm € R e 9
s e s e .
(1)" ===
(Vg o
3) e PW’:%
%) wiafen s
(5] =9 58 ¥ wmd
30. ZEUE W URAE wE am )
(1} wisE
(2)° swEm
o oD
Vi feemm P’
(5) = W M ama
31. Tawm % = oifem .
i g
ver mm Pws B
B3 wEE '
4 TR
(5] T Tnawd

32, YA i I wE & Frepd 1 oo feo mo# | fem
Y F F T T G AR A W I awd D
i @ = = w93 ¥, Fdka =t o6 FA-w/R
Frred fe o el & smm ot AT ww E Frean
¥/foa 2
W
it S R T
ETEakcniccad
Frrend
L ut sE e §
oL FeFaaEREl
(1) fremd 1 s 3 e €1
(21 A freed 1 s s 6 o e &)

(31 e Frad 1 frgem @1

31.

The property of metals by which
beaten into thin sheets is called

(1}  Ductility

{2) Malleability
(3)  Conductivity
(4)  Reactivity

(5)  Not Attempted

they can be

The SI unit of mass is :

{1)  pound
(2) ounce
(31 gram

4] kilogram

(5) Not Attempted

Find the odd one out :
(1) Potato

(2) Tomato

(3) Ginger

(4) Carrot

(5)  Not Attempted

- Two statements are given, followed by two

conclusions 1 and II. Assuming the
statements to be true even if they seem to be
at variance from the commonly known facts,
decide which of the conclusions logically
follow /follows from the given stalements.

Btatements:

All animals are dogs.

Some dogs are dangerous.

Conclusions :

L All animals are dangerous.

IL Some dogs are animals.

{I) Both Conclusions I and II follow.
{2)  Neither Conclusion I nor 11 follows.
{3) Only Conclusion I follows.

usr” e frad o frsem b 4)  Only Conclusion II follows,
(5) IRHTAER Pt 1O {5)  Not Attempted
VNATH /F1 6 1 B o0 w1/ SPACE FOR ROUGH WORK
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3a. mw%wiﬂcc}ma‘s TRYHW'
feren S & @ 3 v ¥ wpE W w0 fen

o ?

{1} KLEI

(2) KGEF

(3) KLEF .
AT KLGH P‘M 1%
(5) I T

34, U =i IR fom A 0 ok ww ) aw A
fewn 135" 45 9w &, 3u% ww ofgomad fou
90° qE e &1 31 e Jg Form e @ & 7

U I

2 em

@) WM 9"‘59
@

(5) E A R

3. AQ, REPEFPH wE ¥ A0, RA
W waifir 2 B

POl

(2) /e s - P
B w

4) ==/E

(5) T T

36. A i il & wgE A wrafem we A fon
¥ womsll ¥ su wdw w1 w9 w1 fae sen
e Y e 0 VO S e wd )

C P K T 0 B
1 2. 3 4 5 6

¥ 2,5,1,3,6,4
(2) 4,1,523,6 ﬁhg
(3) 3,51,426 ﬂ
4 21,5364
{5) T TR

33.

34.

If in a certain code, ‘COVET’ is written as
FRYHW' then how will HIDE' be written in the
same language ?

{1) K

{2} KGEF
{3) KLEF
(4) KLGH

(5)  Not Attempted

A man is facing North direction. He tums
135° in anticlock-wise direction, and then 90°
in the clock-wise direction. Which direction
is he facing now ?

(1} North-West

2] West
(31 North-East
{4} North

(5) Not Attempted

. 1'Q" is brother of son of R's son, then how is
T 'Q'related to R 72

(1) Grandson

{2) Cousin

(3) Son

[4) Uncle

{5)  Not Attempted

A set of English lctters is given below in a
Jumbled order. Select the combingtion of
numbers so that the letters arranged
accordingly will form a meaningful word.

cC P B 3
1 2 3 4 5 6

1) 2,51,3,6,4
2) 4,1,52,36
(3) 3.5 14,26
4 2,1,523,6,4
{5/ Not Attempted
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e e

ay. o wen freiniter w dea gl | & ol wen 37. Kilometer is related to Distance in the same » )
%7 wat = way as Newton is related 1o : 41, TEEE 550 HT Rl | fie A e $omfs | 41 A truck covers a distance of 550 metres I
Tererdy waltaa § 0 5 v wE 33 Frdh, %1 gi 45 fep if 13wl 81 2w 1 minute whersas a bus covers a distance 0:
& oree . 33 kms in 45 minutes. The ratio of the speet
wl' e PR V— ‘? ﬂﬁ!:“ :“ w0 fn 3 s & of the truck to the speed of the bus is :
2 Hm# () ; {1 3:5
W (3} Aceeleration @ 5:3 ) 5-3
(3 =™ 9% s R (4)  Density \’:i])’ : $ ; M i C @& 3:4
o) TR {51 Not Attempted g wECT & % 4.3
(5) e [ (5) Mot Attempted
38. If 25U of August in a year is Thursday, then . gfE 45— {28 ~ 37 ~ (15—l =S5
38. iz et od W 25 sore @ wan b, @ vR i how many Tuesdnys will be there in that - . ¢ l ! Hi=SE R aw 42 Ifg‘ls ~[28 — 137 = (15 = Q)] = 58, then the valu®
d ) month ? ? of xis
Farwrd AT w02 S m- 19 m 19
(1 4 @ 29 @ 29
@ 6 s i s P"”? J @ -20
@ 3 Py ID @ 3 o T W -19
v~ s 4 5 {5) el T (55 Not Attempted
. ’ Attempted ¥
(5) e d e (), ot i : :
43. v doa %1 e sual S @ 5 Hondz sfum 1 | 43, The radius of a cylinder 1.5 oo more than 18
) ) R afe dera w1 W P8 FEE 702 Wi i E A height. If the curved surface area of the
. Ok - o T 39, Find the next term of the : T (o e 3) cy{}ndcr is 793 _cy:*. then the volume of
11.12,16,25,41, 2. R e o we ﬁ}l ’-“s-r‘: e
- 1y 69 @2F 5306 PN ‘;3
@ 72 @ s712 {inss - 2 h3oh
@ 72 ; @ 5244 f. 9R
(3) ©5
o _es s D : (5) T T 2l e
s 66 (4 66 (5] Mot Attempted
sy warE B wWE (5)  NotAttempted 44, T A R Al i
) T B ST T TR Tl 12 s A W 44. At what rate of simple interest will a sum of
! money doubles itself in 12 years ?
; e 40. Fivechildren A, B, C, D and E are standing in 1
40. ﬂaﬁ&s,c‘,nmgmﬁm% g a row, facing North but not necessarily in the (1) 8% (1 a.!.t;,
3 Iélﬁy'%f. A a1 o :ﬂﬁ?ﬁ?sﬁﬁ W‘Tf‘h same order. ‘C’is to the right of ‘E' and to the B 2
o, ¥l s@ncsioa, Fad sl oA sD'E left of 'A% ‘A’ and D" have one child between 1
e e e d | W R AR them, Who is in the middle of the row ? @ 9% @ 9%%
2
' B 0 B i
’ o 1
" 2 A @ 8% P D @ 8w
B3 E P”‘% ‘g & E -
@ c W c \ar sgn W 3%
5 Not Att ted T
(5) I & A {5} ot Attemp (5) 3wy e & e | {5) Not Attempted
VNATH / F1 7% @1l 26 F1C 20T/ SPACE FOR ROUGH WORK Page10  VNATH/F1 T ared 3 T T ISF%CEFOR ROUGH WORK Page 11
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45, Two 1}umbers are in the ratio 2 @ 3. 1If their ]
A A T A - sum is 125, then the numbers are : ! 49. 2 Homs W HCF 28 ® o 3781 Lom 336 £ | 49, The HCP of two numbers is 28 and their LCM
\ " 50,75 () 0,75 it w Hew 112 #, @ guf wem gl ::%:"I_romnumbcm 112, then the other
) 24,38 2 24,36 ; 84 SE;
B] 20,30 F’WP' pt W 5 i e84
] 3 31 20,30 2) 92 ‘Q
U :ﬁh @ 32,78 @B 34 T @ %
S . il {5)  Not Attempted | (4 64 B 24 |
B [4} E4 |
! § . . i {5) el &
46. AN BAT: € 22 500 30T 35,000 Friv 46. A and B started a business by investing | (5)  NotAttempted :
@ SR e R €27 600 ¥ FHEOME B ® 322,500 and ¥ 35,000 respectively. Outofa |
umd. total profit of T 27,600, B's share is : . BO. STEV U U § ThI B UH 0% wEE ¥ w 2g
V“T/ 2 16800 {1} 16,800 : 20% W e & o em T 1600 fou @t fam g | 5O xla:t_;uys Ao of ;1;;;; mh- sale where
) ’ = i Hi ount given is 208, If the amount he
2 T19200  py A ) 219,200 :m wfn 3w HeR F O W i e Dayni8€ 1,600, then which o e o 12
3 10,800 {3) 10,800 . ? the marked price of the pair of skates 2
4 Tis400 4 214,400 (1) 1920 ) 120
(5) TR A e {5)  MNot Attempted : ¥2,000 . g 2y 22000
_ i (3 T17280 \Ch e Bi %1480
47. e il s & fand @ e o S5ws wom 47. If the length of the diagonal and the area of a 4) 21,600 @ T1600
25 e W 168 W wieC §, & svan 7 o) sy rectangle are 25 m and 168 m? respectively, | (5) S T :
$. then the longer side of the rectangle is : i g (5)  NotAttempted
; - 1) 24m B '?..
%?ﬁmﬁswﬂﬂ' 2 3m | 81, T A, B A 20% 5w w7 A L A does 20% G i B s
N L g Lo i 0es 20% less work than B in same
T4 "3, ﬁ 3 12m i Toraft o5 0 7 v 2 9 g o &, g v time. If A can comiplete a piece of work in
@ 129 % W 17m i 1 e v F g0 Fmem? 7% hours, then B can do it in -
4 174 (5] Not Attempted 2 A AT o (1) 6hours
(5) IHCAE T AR @) e A (2) 6% hours
3
% i podg® 1 (3) sw “' ' 3 5hours
s 3 48. I = . —, then the value of g 181 (4) 5% hours
3. swX_ltax e y 3 =y (4) 5%
3 X =g [3)  NotAttempted
. -5 {5) I & s
-5 6
\/L-H/ 3 52. On selling 17 balls for T 720, there is a loss
-5 52, 17 T T 720 § 9w w, 5 W & wn g ¥ equal to the cost price of 5 balls, The cost
s -5 @ L EE e ) w iR wm s et price of ane ball is ;
Gl P p {1) ¥ss (1) 55
-10 g 2 760
~ 10 B 5 \_,[.‘Ja/u.u W . 12)
@ -3 (@3} + 245 3 45
3 @ = 41 %50 (@ 250
® 3 i ” {5) s ) (5] Not Attempted
ttempt ;
(5) TR & F[‘s:lcuzlt:me;: Page 12 VNATH/F1 705 1 % feru 21 | SPACE FOR ROUGH WORK
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53 e []_+_?§_=1 __.g.ﬁxm‘ﬂ’m
¥ 144
(- 13
@ 17
v Ppse C
% 5

54. WHR - | HEEE WYL 15 i freim & st
WA - 11 % e o e T 20 i fasmm § a1l
BT S & e w1 2 0 3 9 foern e @, 6 faam

w1 win feiom gea d

1y Tisso

2 ®19.50

Lo Tis Pyvs- C

4 T19

(5 T e

85, a-3rw wal g dem sl 4t wal ad Hen

53. If {14-»32- = 14 L, then the value of xis
144 12

v

{1 13

@ 17 8.

@ 1

# 5

{5} Not Attempted

54, The cost of type - 1 rice is ¥ 15 per kg and of

type - Il rice is T 20 per kg. If rice of both
types are mixed in the ratio 2 : 3, then the |
cost price per kg of the mixed variety of rice
is ;

186, Choose the correctly spelt word.

(1) humoros
{2)° humarous
{3) humorus

pro- L

T humnrous
(5] MNot Attempted
Find out the antonym of frequent’,
(1) fear
(21 alarm
\AST  rarc 97‘3 - C

{4) return
(5] NotAttempted

Choose the alternative which best expresses

the given sentence in Passive Voice.

The accountant took the cheque from the

customer.

{}) The customer was taken the cheque by
the accountant.

(2) The cheque had been taken from the
customer by the accountant.

(3] The cheque is taken from the custamer

by the accountarnt. )
WThe cheque was taken from the

{1} T1B50
;us:omr by the accountant,
@ T19.50 § B Notjteapted :
{3} 718 2/ ; ® 59. Change the following sentence into indirect
2 speech,
@ wio Shakti said to his friend, “Lock out! There is

(5] Not Attempted

55. The greatest number which divides the

greatest 3-digit number and the greatest

& snake behind you".

(1) Beeing a snake behind him, Shakti
asked his friend to look out.

{2)*  Shalkti warned his friend that there was
a snake behind him,

{3)  Shakti told his friend to look out as

\M/thr:re is a snake behind him.
Shakti exclaimed to his friend with

61. Choose the alternative which best expresses
the meaning of the underlined idiom.
They sold their old house because it was

{1} very comfortable

{4} collapsing

{3y very large
useless

(5] Not Attempted

L

62. Find out the synornym of the underlined word
in the following sentence

arrive, and the true success is to labour,

(1) neglipence

{2) careleassly
(31 _ rationally
L positively

(5) Not Attempted

63.  In the following question, the first and the last
part of the sentence are numbered S, & Sg.
The rest of the sentence is split into four parts
and named P, Q, R and $. These four parts are
jumbled. Re-arrange them in correct order.
S - Even today in many countries
P - neglected and there are far
Q - women vontinue to be
R - who have had the benefit of
8 - fewer women than men
g - education and vocation training

il ROPS

2) SQRP

(3 PQRS Byv"a ‘ D
L4 QPSR

{5} Not Attempted

4. Qmonmcwmctaltcmﬁﬁvetoimpmw the
underlined part of the following sentence. 1f no
mprovement is required, your answer is {2}

(1) requested to sit
(2)° No Ilmprovement

3) not sit
to not to sit

(5) Not Attempted

= fanifirn w0) oeh wed s wwn € 4-digit number, exactly is : surprise that there could be & snake
behind him.
(1 8 (8 5)  NotAttempted PV + D
i 9 @ 9 B0.  Fill in the blank with suitable alternative,
\_}V’ : 'Q’ You will not overtake him unless vou
F 3 BI #H 3 (1} play
4]  reading
- 7 13 eep ‘a-,q/‘a . D
LA i ® walk quickly
{5y At ad A {5) Not Attempted ©)  NotAttempted
‘ UNATH £1
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Neemrana comes under which State 7

65. Pick oul the part of the sentence which has an 70. ‘mmﬁmﬂﬁ'{ﬂ‘f'wﬁimmw
error. If there is no error, your answer is (2) m""'_mqw:ra\:%— ! 76. frrn e 1o & st 12 re. :
This is the third communication | have sent / 1) s % (1w {1) Punjab
* s oo ( 5 ; * i [2) Uttarakhand
N 2) wwET
and [ am much surprised / \_ﬁl’ ; % " W et {bwv . {3)] Rajasthan
at retmvmgffl: answe 4 W {;} :an:: " d
........... T 5 FRAA I il (5) e T A {5) ot Attempte
V€ © 71 e s & ween T e €, 30 wea § - i ek
; . ich one of the following is met amongst the
:;; zi‘; o M o 9 Tt mﬂi %’::m VI W FEEE major cotton growing districts of Haryana ?
[ ;.Zw bt M 3 K or ey (1) Ambala
(5} Not Attempted 4w [2) Rewani
66, 'wwl T N ww O qerE W weTeE vy o (5) et el & @ ‘g 9 3 Sirsa
¢ 3 fa W (3)  Sonipat
72. '™
\MT SR N SaE - (4w 5] Not Attempted
(21 ofEs wE R e e Pf (5) T Ay
3) PN o it s M. i 78. For the fmancial year 2022-23, what is the
2) Tawwm . :
(4) e wrd ® e wT @ frow 78. fa® a4 2022-23 ¥ fom, wivaren = F e & tpcrwutaﬁe afh l:.h_e t:;‘ta.! expenditure allocated
(5 o el @) fasm foerey et = w1 Feeren Wi amreife foy rn 89 “"]‘"“‘8"’5‘;" in the Haryana State ?
' (1 8.5% i
67. Ty few fawen f amm Sy s 9@ #2 (5) T & e {2: 5.8% 2 5.8%
(1) wRFmFIIRE 73. ﬁqmﬁaﬂﬁrﬂﬁaﬂ#mwmﬁ_ ! (@ _ 19.2% - F"’ 'D @ 19.2%
- - i
wed ¥ ygwer B W@ i - are '?IEJ ... s ! i 4 e 6.2% 4 62%
W S ot A e [Ed] : (5) T I A (5] Not Attempted
m' e W i@ % W Pvs-C |
(5) IR T Tw A 4 m::?% = | 79, wftamn F faed faa £ 79. How many districts are there in Haryana 7
' -~ ’ (51 T At I (ny 23 7
68. T 3 e & e # Fen’ ¥ fo waifuw avgw i : iy 23
- i 74. ‘Feufed ) @i da Gy I w wa seen lﬂ 2 24 @ 24
d o @ S & : i (3 21 MQ @ 21
(1) T L 22
ar  ahe (1) T SRR @ 22
2 ' O TETETY ST i (5) I W AN A a R
N S W\"’ (3)  TTWIEER F . 9 | : £ ( Srr
(4) R ) S | 80, TUSIR 2 Wt forrer A g 3 & forg wend @)
{5) e ¥ Awa (5) I T ! ieer e, o e o i e e | tT:’opf?s'::;fs[::e ﬂﬂ‘fﬁei"’m’w grn?mog
3 : is the
69. 1% vern ¥ W d o wen v AH E - O IS N —- & 790 weiees F-w §2 Pinjore Heritage festival' which i the second
m i i W Qane
il - gt W = {1) Mango festival
[ : P‘ Ty T AN 2 R @r w 9 : _
g ¥ {2) Lemon festival
3) Tt T we wd & (3] PR S i
“ . - i [V
() TEH (@) = T () wﬂﬁm " Dm:&_"s'r
FR LIV
(s) e 2 = (5)  ww T A (5) s e (5) Not mtempt:d
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81. frefafaa & & wRawr #1 F-0 7= fieh Fa | 81

srronfa B e ¥
(1w
(2) Tm

(3) O %T"‘"D
\or” vt
{5) = e E oA

82. wfAmn TR wen | # et @ E2

(1" 6
\ars
3 8 %%
“ 7

(5) I T A =EwA

83, T T WEiw wE g g feet aferd) w1
Y-St § i e w7 &g wlaeive e =1 aifviia

faram = & 7
{1 4
2)- 5

@) 2

. O
w3 W,

(5) I HE W AREA

84. N fam fae § fewa 2

Wit e

is associated with Mewat tribe ?

{1}y Phag
(2) Gugga
(3)  Dhamal
{4) Ratvai

(5] Not Attempted

82. How many Rajyva Sabha seats does Haryana

have ?
1y o
2 5
(3) 8
M)

{5) NotAttempted

83. Mukhya Mantri Pragatisheel Samman Yojana
is to motivate the progressive farmers for

many categories of land holding ?

(1) 4
@ 5
3 2
4 3

(3) Not Attempted

B4. In which district is Narnaul situated ?
(1) Mahendragarh

C M 4 Q‘ (2) Rohtak
(3 fofe (3) Jind
[4)  Waw (4  Kaithal
(5) oA T A | (5] Not Attempted
VNATH/F1 ¥ et & fe wenver / SPACE FOR ROUGH WORK

Which of the following dance forms of Haryana 1

adopting best agriculture practices in ho\_v

Pagowl.

o5, Troafaferm sl o frar =it . B8. Consider the following statements ;
(A)y T wfeE TR S 2 (A)  Nada Sahib Gurudwara is situated in
®) T wfEa e e 1@ F Az Ve
T 7 {B) Nada Sahib Gurudwara is situated on
mﬁﬁm..mfwmp&&fﬂ? the bank of river Ghaggar.
T it () 2t Which of the above statements isfare
{2)r AT (A) A (B) oA
(1) Both (A)and (B)
(3 FEE(A) D {2)  Neither (A} nor (B)
\ M~ FaE (B) P]nb ! @  (A) only
(5) T 9w #)  (B)only
15) Not Attempted
86. & wfeensi gro el me wiv 3 faw v Al
o e 2 86. Boojali, an ornament is worn in which part of
the body by women in Haryana ?
(m *® (1) Feot
2 = C_ 2 Nose
\’,BF/‘““ % f {3) Ears
@ (4}  Forehead
B aalilonty (5) Not Attempted
a7, fysifefaa s v faun o - 87. Consider the following statements ;
. T (A) Rohtak has a Police Commissionerate
. A e gt SRIGE fer & - located there.
| HrivE § gfem sty fam 8 (B} Sonipat has a Police Commissionerate
m k- -1 ﬂf:[.m;ﬂ T w t,g ? located there.
5 Which of the above statements i
a) @) s ) QF'H e s is/are
@ (A) 3t # (B) {1)  Both (A) and (B)
@) ¥ (A) M ~ 8 2}  Neither (A) nor {B)
“ mp) (3) (A only
(5) e AE & wA| il
(5) NotAttempted
8s. fww W T
fordt o Preafroer R 7 | g8, In which district is the Indian Nationa
(1) wieEeE Defence University located ?
2) v (1) Faridabad
; M " C/ 2} Kamal
\J;: \ ¥ (3} Panchkula
(4)° TEIH {4) Gurugram
(5) < & AT (5)  Not Attempted
VNATH/F1 70 w2l & fére 2erme1 / SPACE FOR ROUGH WORK
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Ini the Mahabharata period, which term wasg

89. uRraEn wRA H wfaon ¥ o few w e oo fem | 89
R B used for Haryana ? 93, HEERG ¥ vl & e
. : . " o Tl 7 '93. Who was the author of epic ‘M '
; ad epic Mahabh -
() g in “a“?a sk (1) wefd ansdifs {1} Maharishi Valmiki i
2 r&m o N2y upfd dzsim (3)  Maharishi Vedvyasa
'D (3) Haribanak 3 wm M " % (3) Magh
s *’Q’y‘q 4) Bahudhanyakya (4 e 5 i
"6 (5] . Not Attempted (5) A T el
04, Prefifers § @ faar oftaon 1 s A st 2o | 94, Who amen
: gst the follow ;
90. ‘3z’ W wfrarm 7 fEw T w2 G0, ‘Oftu’ barrage is on which river in Haryana 2 =i wen w? e ;ﬂnjie'f'::}phyigg did met play for
()« zi (1} Tangri o Uy e () Raskaded Sosl
=y {2) TR AEAR C {2) Sarkar Talwar
Ler” wm @l Ghagewr er i W -
wfipr feie {3 Maninder Singh
N M * % 13 Yam.una (4) wfe En {4 Kapil Dev
o) # 4} Sahiba (5) waE Eawmd (5] Not Attempted
(8 T ¥ e (5)  MNot Atternpted
5. e RS (0 ¥k et .. Comites thaToliowing alesnit siiout fimes
. ; . AT g7 fasrs s stic Product P
Sa 3 : 91. Consider the following statements : ; i i
wﬁ”m“wmv ueni . e R DR NP S R Sy (A} giﬂl’l’d‘l-lmu is more than that of
A At ot wER o HW }  Sonipat and Jhajjar share border with St : il
{ t L2l faeeft % wg TR Delhi. ® (B) GSDP of Punjab is more than that of
: : han that o
" (8 Rohtakdoesnot share border with Delhi, e mw i mki}m%}‘a—ﬁ Haryana.
® S wt e foeeh &t el ¥ Which of the above statem - iR 5 W*‘ g st O w”:it:h of the above statements is/are
Tof 4 R AW w8 correct ? BETIERAN SR mé'aﬂ'ﬂm mmmwﬁﬁ? e o cf:oih A
() (a) st (B) B (1)  Bath (A) and (B) (;; ::\;;fa tg{&m (2 Nen.hir, ;?iﬁl ®)
@ A AR E (2) Neither (A) nor [B) \,:Fﬂ’ miﬂ; AH (B) C (3 (A)only
Wﬁ?ﬂ:&! (A} C (3)  (Ajonly @) ¥ :B: 1M t;l (B) only
i N
@ ww P @ (B only (5) S i T
(5] EeR A E A | 15) Not Atempted 96. Consider the followi i
se. TGN (o) e A it | orMatonal Security Guards (NSG):
) i ) ] i - :
92, =i % f&u wia § ufey oy &R W AR 92. In wiluch month of the year, the famous Al ™ aﬁmt? i o gg:\r:xnm Hemaneriak o 160 ¢ fo
wfraron & drm 2 Surajkund mela is held every year in { TE W F YRR qeers e by -
. Misrysiod B) 7w S e v % o # {B] NSG comes under the control of Union
() - s ; : Ministry of Home Affairs.
(1] October Iras ¥ A -y R we w8k
K /8 Which of the above statements is/
o ?m& . 2) February (A) e () 2l correct ? are
w (3] March @ A ST ) (1)  Both (A) and (B)
. Faa 2 i
@ R {4) December if: t;} M . P‘ : *ii :;T:":‘:r (A) nor (B)
(5) e d Remumed {5}  Not Attempted ) = ,:ﬁiﬁ e 1 {Bonly
VNATH /F1 T el & [0 2erme1/ SPACE FOR ROUGH WORK et s
/F1 :
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97. e s far et ¥ fory ftrg #7

(1 T

2 et
(Ve o M-Cf
(4)° waf

(5) I T & R

98. Frafefan & 4 %R m gu sfam w s g &7
(1) smwgs

(2) = w Y

\g vmw s C

4 ufem sfsit
(51 I el ¥
99. IRW mivt sift switg wfw sfem sferm & g

g

(1) femm

(2) f=
\Br = ”’”""C’

4 TEmm '

(5] I TE & =

100. f=fefaa § & = 2ftamn ey 5t v, 7= ok

qrsTE T E 2

(1) &t 5= == vmf

2) it geda dreEn 52

3) = =it faw WD

@~ st F O

(5) ST & A |
-00o0-

VNATH/F1

97. Garima Chaudhary is well known for whicy,

sport ?

(1) Wrestling
(2) Archery
(3} Judo _
(4) Kabaddi

{5) Mot Attempted

Which amongst the following is the State Tree -
of Haryana ?

(1} Mango Tree
(2) Sal Tree

(3) Banyan Tree
{4) Sacred Fig

(5) Not Attempted

98.

99. Indira Gandhi Super Thermal Power Project
is situated in which district of Haryana ?
(1) Hisar
(2) Jind
(3) Jhajjar
(4) Sirsa

(5) Not Attempted

100. Who among the following is the Minister of

Environment, Forests and Wildlife of Haryana |
State ?

(1) Shree Mool Chand Sharma
(2) Shree Dushyant Chautala
(3)  Shree Anil Vij

(4) Shree Kanwar Pal

(5) NotAttempted
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